PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016
19th July 2016, 12:00 PM
Topic:- General and Logical Knowledge

1)
Question Stimulus :-

Who invented the Gurumukhi script for the Punjabi language? / USITal HTST | '{RRH@ tI'I§ﬁl'tﬂ BT AP R
fera faam

® Guru Nanak / = ATd

® Guru Angad/ [ 3

® Guru Amardas /¥ SHIQIN
® Guru Ramdas /¥ IHGY

Correct Answer :-Guru Angad/ = 3[7Ig

2)
Question Stimulus :-

Hargobind Khorana was awarded the Nobel Prize for in 1968. / BMA—=< @'Fﬂﬁ 1968 | . & ferg EIEG]
RSPR I GG o 1 o

* Medicine / FRforear

® Physics / Hifast

® Economics / YRR
® Literature / '\‘IT%W

Correct Answer :-Medicine / fRIfeT

3)
Question Stimulus :-

The 86" Constitutional amendment of which year created Article 21-A, that seeks to provide free and compulsory

education to all children aged 6 to 14 years? / [ T & 86 § AP WNYT TG 21-T BT AT, 6 I 14 9
g 7 & it v} ) que SR erfFrard Rre wem we R2

® 2005

()



® 2003

® 2004

® 2002
Correct Answer :-2002
4)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fowe ﬂﬁ'l'{
it 3T U Syl wd Frepu & I | wE 81

Statements: / ®Y-:

All cubes are cuboids / it Wéﬂﬁ EHT'J-[%

All cuboids are cylinders / It g9y ﬁlﬁ?—ﬂ%
Conclusions: / fod:

I. All cuboids are cubes / I. 9 g9y 987 &

II. All cylinders are cuboids / II. gt Rdes a9y %
® Only conclusion | follows / *ad fase 1 IBCASGI %
® Only conclusion Il follows / Had ey | eadar %
® Both conclusion I and Il foIIows/E.PFI-T e 1 3R 11 e %
* None of the conclusion I or II follows / =Y I AT II & | B T8 Fear @

Correct Answer :-None of the conclusion I or II follows / e 1 a1 11 § A FI5 8 Rpadar

g

5)
Question Stimulus :-

“Discovery of India” was written by / “HRd TPk et __ gri &t 11% i}
* JL Nehru /S TF A&
* B G Tilak /&t Sit faere
® Mahatma Gandhi / HTHT ieh

® BR Ambedkar / §1 3R 3FSSHI
(3)



Correct Answer :-J L Nehru /S T J8F

6)
Question Stimulus :-

Chhindwara district of Madhya Pradesh is famous for which of these Mela? / H U%TZT DT %ZH'IET Rrem 3_'{1?[ J

forg A & for ufdres &2

® Kumbh Mela / & AdT

® Gotmar Mela / AR AT

* Kartik Mela / Tfd® AT

* Kadam Mela / ®&H BaT
Correct Answer :-Gotmar Mela / McHR AT
7)

Question Stimulus :-

Fa Hien visited India under the reign of . /BT & ST | URd 31

* Ashoka / 3RM®
® Samudragupta / g

® Chandragupta I / J-®Iul I
® Chandragupta Vikramaditya / I~ Gl fapafes

Correct Answer :-Chandragupta Vikramaditya / Il faparfes

8)
Question Stimulus :-

Which Indian President’s title was ‘Giani’? / fobql WRdlg AIgufd &1 Iurer “gr=i~ 4z

® S. Radhakrishnan / T¥. TUTH W
e Zail Singh / Si@ g
® Rajendra Prasad / MSig WRITG

* A.P.J. Abdul Kalam / €. U, . 3fegel HaTH

(4)



Correct Answer :-Zail Singh / S 9

9)
Question Stimulus :-

Kopra , Vyama and Bearna are all tributaries of / aﬁw, T 3R faRT 9« yenfaat %
® Chambal / d5d B
* Betwa/qddl &I
e Ken /% I
® Tapti/ qTwdT Bt
Correct Answer :-Ken / & &1
10)

Question Stimulus :-

If cream cracker means computer programming, and it’s programming, then it's not

cream cracker. / afe 18 $HR &1 Taad SRR UHATRIAT &, 3R T8 URNTHT 8, 99 T8 I s gl 8l
* True / Tsl
e False / TTdd
e Maybe / B I&dI &
e Irrelevant / ST RIH
Correct Answer :-Maybe / & I&dT 8
11)

Question Stimulus :-

In the following diagram, the circle represents college professor, the triangle stands for
surgical specialist and medical specialists are represented by the rectangle. / o awﬁ

o, g Blae $ MR B UTgd HdT 8, AP0 g2l & TuRifee fARuy ok smifasm fafves sma
SR egd frd T €

(%)



Surgical specialists who are also medical specialists but not professors are represented by

/ TP ae vy o smifis R oft 8, 7iq mous T8 @
B
e C
e X
e Z
Correct Answer :-Z

12)

Question Stimulus :-
Gangtok is the capital of . /Tim aﬂm‘t‘.ﬂ:ﬁél

e Sikkim / fafawn

* Meghalaya / RETad

* Tripura / RATRT

® Nagaland / TTAS
Correct Answer :-Sikkim / Rifesd
13)

Question Stimulus :-

V.V. Giri, F.A. Ahmed and Neelam Sanjiva Reddy were all / 4. 4. ﬁﬁ, U, U, 3lgHq Tq Hiaw Teilg @
Tt q

® Prime Ministers of India / HIRd & YUTHAT
(6)



® Presidents of India / HTRd & ITFUfd

® Chief Election Commissioners / &I T 3T

® Governors of RBI / GI'I?EﬁSTIg F IR
Correct Answer :-Presidents of India / HTRd & IPufd
14)

Question Stimulus :-

Who was the youngest woman to receive the Bharat Ratna? / WRd ¥ Ut &3 arell Wad gaT afgar o A
® Lata Mangeshkar / dl HIRIHT
® Nargis / TR
® Kiran Bedi / o1 9t
e Indira Gandhi ; gfewr wish
Correct Answer :-Indira Gandhi /7 gfezr 7ish
15)

Question Stimulus :-

X+Y means X is the daughter of Y, X-Y means X is the husband of Y, XXY means X is the
brother of Y. / X+Y ®THAGI & X, Y B a1 €, X-Y PIHAGT € X, Y DT UM &, XXY BFIAGAG & X, Y

PT U 2
If A+B-C, which of the following is true? /'Clﬁ' A+B-C %, @ ﬁ'ﬁﬁﬁ?ﬁq a1 ™ %?

° CisthemotherofA/C,Aaﬂ'Fl'l_dT%I

° CistheauntofA/C,AaﬁgerH%I

® (Cis the sister-in-law of A/ C, A St T'FI'C;"%I

® (Cisthe mother-in-lawof A/ C, A AT %I
Correct Answer :-Cisthe motherof A/C, A CIR G| %l
16)

Question Stimulus :-

Three friends want to hire a taxi for a trip. The taxi owner provides them with following

three options: / H9 I T I & iU U il fhRw R &A1 915d &1 ekt wifere 3<% FRafafea
I o yem Fear &:

(7)



A. You can hire the taxi without an accompanying driver. This would cost you Rs. 2500 per
day. Driver can be arranged from another agency for Rs. 500 per day. / A. 34 o

SRT T R @ T@a &1 IFST v ufafd 2500 FUT FhIT SR g THEt A o HT 8 SHBT Iaq
500 ¥UT ufafeT gl

B. You can hire the taxi with driver from the first agency. This would cost you Rs. 2800 per
day. But driver will have to be provided relief fund of Rs.250 per day if total distance

traveled exceeds 1500 KM. / B. 3T Ugell Toikil | SI3aR & 1Y TR & THd g 39T 2800 Ui fa
FUA BT T AT AT FIgar &1 Ui &7 250 I A5 HIY ST g1, S Fo gl Dt ABT Ht 1500
fpamfier @ it gl

C. You can hire the taxi without an accompanying driver. This would cost you Rs. 2500 per
day. Driver can be arranged from another agency for 50 paise per KM. / C. 3U ﬁm@m%

SR fHRE R A Toa 1 IS fvmn glafds 2500 FUT g1 AR g Tolil & 3T THdT § 0BT A
50 T ufa forandiex ghmi

If they had planned to travel to a distance of 600 kms and comeback that day itself. Which option would have been better?

/ afe 31 firl #t 600 fHaiiier $1 g8 W T T8 $F =T SR AT 37 aTuw 3 &Y Ao 8, o S 41
fawer dgar R

e A

B

e C

* EitherAorB/A 4T B &I i
Correct Answer :-B
17)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fowe ﬂﬁ'l'{
Sil 3T 7T HyAT Ta et F av § 9E 2

Statements: / BY:

All coins are balls / 9 Riep A &

All balls are bats / |4 7i¢ geat §
Conclusions: / fAwpd:

I. All bats are coins / I. 9 acat Riap &
II. All balls are coins / II. 9 93 fRad &

® Only conclusion I follows / *ad freepd 1 feadr g
® Only conclusion Il follows /aﬁﬁ foremd 1) Freaan %

(8)



® Both conclusion | and Il follows /?a:ﬁ foreed 1 Gﬁ? II fpad %
e None of the conclusion I or II follows / frd 1 @11 # A &5 ¢ Rpaar g

Correct Answer :-None of the conclusion I or II follows / =t 1 a1 11 # 4 15 A8l
Foeaar g

18)
Question Stimulus :-

Puranic name for Amarkhantak is / 3[HR®b D BT tﬁ?lﬁlﬁ «TH %
® Vindhyaparvadham / fearademy
® Riksha Parvat / F¥a®I gdd
® Himaparvat / %'FITCIﬂH
* Shiwalik / Rrarfere
Correct Answer :-Vindhyaparvadham / faearademy
19)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg faweu
g diab st AR R s Faum g :

It is not true that both dogs and cats bark. / I8 ™ 78] § & $9 ik fafewt g viwa B
e Dogs bark or cats bark / 1 Hiwd g a1 fafema Wisdl &
e Dogs bark and cats bark / $« 4i®d § 3R fafemai Wiwdl &
e Both dogs and cats bark / $ 3R fafewat G «ied &
®* None of the above / mﬂﬂﬁ'{?ﬁ
Correct Answer :-Dogs bark or cats bark / < Hi®d & a1 fafeear Wl &

20)
Question Stimulus :-

How many times the consona}nts follow t.he vowgls in the word ‘pNCOMMUNICATIVE’?
/"UNCOMMUNICATIVE’ ¥ # fasil R e, WRI P SJHI0 HId 82

e 2

©)



e 4
e 6
e 8
Correct Answer :-6

21)
Question Stimulus :-

In the following sequence, how many letters are preceded by a number and followed by a symbol? ﬁ'ﬂ 3IhH - |

foraq ereR ¥ & P 1o Usd U TRAT UG 31 a1 U Udle 3T 22

Z*K657)*3P9?#5YH% 7B8<6TH6SE&(RY4&L>2G7WAT13NS@5+2Q
e 1
° 2
e 3
e 0
Correct Answer :-2

22)
Question Stimulus :-

Who was the first chief secretary of Madhya Pradesh / H& U & Ugd qeT gfea o1 &
® RP Noronha/\?rﬂ?'tﬁm
® H S Kamath / Td TH ®HY
® M P Shrivastava / TH it farag
* BG Ghate /St g1¢

Correct Answer :-H S Kamath / T TH GTHY

23)

Question Stimulus :-

‘Simhastha Kumbh’ is held once in every years / “ﬁlsw PR oL a9l ¥ Smaforg m %
* 10

(10)



e 11

e 09

° 12
Correct Answer :-12
24)

Question Stimulus :-

Find out the pair which is different from the other in the following question. / g uy A
98 g A Hior &l STfhdl | SIerT

®* Head and cap / R sk ot

e Dhoti and chest / il 3% BTt

e Hands and gloves / BIY 3R =™
* Feet and shoes / X 3R 9d

Correct Answer :-Dhoti and chest / 9idl 3R Brdt

25)
Question Stimulus :-

In Madhya Pradesh, Manganese occurs in the districts of / 7% We= &, A AT § 9§ f59
e A urg S 8

® Morena and Rewa / H%Tﬂ 3R S

e Bhalghat and Chhindwara / YTeITgTe 3R fR¥earsT
® Durg and Baster /gﬁ CRCEEY

® Ujjain and Kalumar / I T DPIGHARY

Correct Answer :-Bhalghat and Chhindwara / HTdTdT¢ 3R fSgarst

26)

Question Stimulus :-

Silent Valley National Park is located in ./ '\‘I'I'E';ﬁf I AN Ut A fRE %I

® Palakkad / Uddh S

(11)



® Chennai /373

® Madurai / Wge
® Hyderabad / %ETWTQ'

Correct Answer :-Palakkad / Ucldh S

27)

Question Stimulus :-

I. There is a group of five persons A,B,C,D & E. / I. Ut safeaal A,B,C,D AR E DT UPh g %I
II. One of them a horticulturist, one is a physicist, one is a journalist, one is an industrialist
and one is an advocate. / II. 398 ¥ U 3UH faRvy 8, T& HWifds Ul 8, Th TR §, Th
STl § 3R TP a@Id gl

III. Three of them A,C and Advocate prefer tea to coffee and tvyo of them B angl the ]
journalist prefer coffee to tea . / III. 399 | T, A,C 3R T@Id HIWI & IollT I UG Hd § 3%
3, B 3R UIPR 919 & I HIB] UdHe B &l

IV. The industrialist, D and A are friends of one another but two of these prefer coffee to

tea. / IV. STNTUN, D 3R A TP g&R & 7 § uRg 37796 & Gl 919 & I HI1B! UG B3 g
V. The horticulturist is C’s brother. / V. Wﬁﬁﬁw C &I 'l-l'l'ﬁ;%l

Which of the following groups includes a person who likes coffee but NOT a journalist? /

e % Q o9 3 9gg ¥ 98 ' e § PR 919l Wig § R 98 T PR e 82
* BD
e AD
* AB
* DE
Correct Answer :-AB
28)

Question Stimulus :-

Which of the following sectors is NOT prohibited for FDI in India? / Fraferfaa &=t & ¥ <19 I1 URa o weaes fag=h
fFaw & forw At A8 @2

° Lottery/a\l%ﬂ
* Nidhi / A%

(12)



® Chit fund / RIe s

® Defence Industry / Y&T JET
Correct Answer :-Defence Industry / T&T ST
29)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fawey

FRE AT F R AR RE T FE FaTw9= 2 :

It is not true that Sita and Geetha are sisters of Rama. / 98 9 gl ¢ & Iar i a1, I@1 31
g5

e Sijta is a sister of Rama or Geetha is a sister of Rama. /?ﬁm,waﬁwasﬂ%mﬂm,
T B TS 989 B

e Sijta is not a sister of Rama or Geetha is not a sister of Rama. /@ﬂmmﬁaﬁqﬁ%
1 14T, IHT FI 989 81 B

e Sita is a sister of Rama and Geetha is a sister of Rama. /?ﬂ'clT, Wﬁﬁ%ﬁ%ﬁ?ﬁﬂ,
T B I8 8

 Sita is not a sister of Rama and Geetha is not a sister of Rama. / |IdT, ITAT H Ig9 el
 oflz 3fiar, I A FeT S B

Correct Answer :-Sita is not a sister of Rama or Geetha is not a sister of Rama. / ¥idl

IMHT BT 981 181 € T T, IHT Bt 989 a1 2

30)
Question Stimulus :-

Which Indian Musician won the Academy Award for Best Sound Mixing? / f&T URdg Tiiifay &1 waiaw 96s
i & fore st R R fe

® AR Rahman /T 3R IgHIA
e Resul Pookutty / T Yl

® Gulzar / [CNIIR
® Sonu Nigam / |+ f-rmy

Correct Answer :-Resul Pookutty / T JPe!

31)

(13)



Question Stimulus :-
A sales representative plans to visit each of six companies M,N,P,Q,R and S exactly once

during the course of one day. She is setting up her schedule for the day according to the
following conditions: /

o faspar ufaf{fr 3 GeFT 791E # M,N,P,Q,R 3R S T: $ufal # &% us Hu-t A faq & fpufafy & wa
IR SIRATT O 39PT feH &1 iy aa fban g waf & SR

1. She must visit M before N. / 1. 38 N 4 Ugd M I fia=m =nfgwl
2. She must visit N before Q. / 2. 3 Q ﬁugﬁ N ﬁﬁlﬂmﬂﬂ%ﬁ’l
3. The third company she visits must be P. / 3. 3R $u- SrgH g8 oIt § P g1 =nigel

The sales representative could visit any of the following companies immediately after P

except. / fahar uARf 9 &1 Sisox 9 $U- H P & qRd 91¢ B Twar 2|
e S
e R
. Q
e M
Correct Answer :-M
32)

Question Stimulus :-

Directions: 5 persons are sitting in row. One of the two persons at the extreme ends is
intelligent and other one is fat. A fat person is sitting to the right of a weak person. A tall
person is to the left of the fat person. And the weak person is sitting between the

intelligent and fat person / fid3n: 5 safdt Us Ufdd & 93 g€ 1 TRU SR & ¢l sAfwal 7 A ta
FISHM § TUT gORT HieT ¢ | TSP Hiel Afdd T HHUIR AR & glig- 3R 9T 3| T dar sAfaad Aiel Jfed &
9 3R 967 31 3R HHwR sAfd giaum ik 1 safed & & & Ja1 81

Tall person is at which place counting from right? / gIfgq ¥ e W via1 safe forg WA W 82
®* First /Ugdl

® Second /gHRT
* Third /dRRT

e Fourth /iﬁtﬂ

(14)



Correct Answer :-Second / ¢RIl

33)
Question Stimulus :-

Following are the three views of a cube. Which of the following options is opposite to the face shown at the right? /

o= & §9 oxg 8] e d @ 919 91 fied it ik e T wae & faudia @2

D L

i

L

Correct Answer :-

34)
Question Stimulus :-

If the following series is written in the reverse order, which humber will be fourth to the
right of the seventh number from the left? / afe Fufifaa yTe Sopq § o &, & w19 & J=
1Y I Aradt GBI F g 3R I 91 HH W g2

7,3,9,7,0,3,8,4,6,2,1,0,5,11,13
.0
e 5
9

e 11

(15)



Correct Answer :-0

35)

Question Stimulus :-

Which one of the following is not a fundamental right in India? / YR # Fgfafed & @ @19 a1 difere sitier Tl
82

® Right to freedom of religion / e} Y TadsaT &1 SfYeR
® Right to constitutional remedies / HaUTf~® IR F1 PR
® Right to education / e &1 SftpR
® Right to property / Tufxi &7 SfUPR
Correct Answer :-Right to property / HUfRI BT STUBR
36)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawe il,ﬁ'l'{
Sl fau T HyT vd et & aR # 98l 81

Statements: / HYA:

No fruits are vegetables. / ®Is Bd Hfodi gl €|

Some knights are not vegetables. / 99 QBEﬁ? '\‘l'%l’*ff*lﬁ%l
Conclusions: / =pd:

I. Some knights are fruits. / I. $© JRIR Bd &

II. All fruits are knights / II. 9ft 5@ IRAR &
® Only conclusion | follows / *ad faeey 1 Aeadr %
® Only conclusion Il follows / Haq sy || paar %
® Both conclusion I and Il foIIows/Eﬂ:ﬁ frspd 1 3T 11 fFipad %
* None of the conclusion I or II follows / oS I AT II & & B T8l Mear @

Correct Answer :-None of the conclusion I or II follows / s I a1 II § q HI5 81 Fpaar

g

37)

(16)



Question Stimulus :-

Which Business house in involved in the Vizhinjam International Deepwater Seaport

Project in Kerala? / vd & fAfSiom sexAwa Siuaier Huid meiee § 19 1 91 o1 99 ¢

Anil Dhirubhai Ambani Group / 3@ TREUTE SraTI qYgg

Tata Group / CICl HHg

Bajaj Industries / d6ITol HHg

Adani Group / 37GT-I qqge

Correct Answer :-Adani Group / 3G T8

38)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fdwe

g Sidah iR AR R s s aum 8 :

It is not true that both Mona and Lisa are suffering from fever / g 94 Hﬁ? & ﬂT-ﬁ AT 3R
o F TR §

® Lisa is suffering from fever or Mona is suffering from fever/?ﬂﬂTﬁ@EW%ﬂTlﬂ:nﬂﬁ
TER ?

¢ Lisa is suffering from fever and Mona is suffering from fever/?ﬂ'ﬂTﬁerg@R%aﬁ?ﬁﬂT
P gER 8

® Lisa is not suffering from fever and Mona is suffering from fever /EﬂﬂTTﬁWT&?{%
3R T &l TR &

* None of the above / E@Wﬂﬂ'&;?&p{

Correct Answer :-Lisa is suffering from fever or Mona is suffering from fever / &1 &I
@R & U1 {1 6 §ER ®

39)

Question Stimulus :-

In the following question, there is certain relationship between the first two terms. Choose
the fourth term from the following options which has a similar kind of relation with the

third term. / 9 w3 @, U8 o ugl & div [Pt vor @ ®1S Gay B Ay el & @ <t ug gHa
RraeT IR g & Ty A THR T 6y 7|

BCD:FGH: LMN:?

(17)



® WXV
* PQR
® STV
* XWvV
Correct Answer :-PQR
40)

Question Stimulus :-

There are two words making the base pair. Find the similar pair of words from the

following / & XTeg SMTYR T ST %@ §| 9 § I TAM ! ST g1 I Biford
Poet : Verse :: / ®Id : Hiddr ::

® Prose : Novelist / e : SURITIHPIY

® Author : Book / Ra® : fopdre

® Novel : Prose / 3UTYH : <l

® Publication : Editor / UPIRM : GHIGDH

Correct Answer :-Author : Book / AW® : fhdra

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

A walks around a circular field at the rate of two rounds per hour while B runs around it at
the rate of 5 rounds per hour. The start in the same dil:ection from Fhe same point at 9:00
am. They shall cross each other at/ A T® JuI®R AgH ¥ &I gaH: Uld el ot A A gadr § wafe
B 5 Ta® Uld el 1 7Tfd A 3P IRI a¥W gisal 31 9 Jag 9:00 ¥4 Tw ¢ fig 1 uw & famm & ywama
F3d g1 3 Gl TP g Bl fhad a9 UR B3t

* 9:10 am/ IE 9:10 TS

® 9:15 am/ Jd¢g 9:15 T

® 9:20 am/ T 9:20 T

® 9:25am/ gd®g 9:25 ol

Correct Answer :-9:20 am/ a8 9:20 T

(18)



2)
Question Stimulus :-

If the price of the product is increased by 20% and then decreased by 10%, the change in

its price will be/ af¢ T ! FIUT B 20% T faar T 30 b 10% TeT fear ww, o ST=! g &
aRad= g

® |Increase by 8%/ 8% Gl El?.?ﬁlﬂ
® Decrease by 8% / 8% BT HICT
® No change / Gﬁgmqﬁ
® None of these/ E:Iﬁ J aﬁ% qﬁ

Correct Answer :-increase by 8%/ 8% ®! g3l

3)
Question Stimulus :-

The sum of the digits of a two digit number is 8. When the digits are reversed the value decreases by 18;
what is the original number? / T® ) 3t B T & 3(h] BT ANT 8 B | o9 3P Iopiid H oA &id § @
A 18 | T W61 §; A A 6T T 82

e 35

* 53

* 17

* 62
Correct Answer :-53
4)
Question Stimulus :-

If A:B = 1:2, B:C = 2:5, C:D = 1:6, then what is A: D? / af¢ A:B = 1:2, B:C = 2:5, C:D = 1:6
g, df A:D FT 82

e 5:6
e 30:5

e 1:30

(19)



Correct Answer :-1:30
5)
Question Stimulus :-

A’s salary is 60% of B’s salary and B’s salary is 75% of C’s salary. What % of C’s salary is A’s salary?/A BT daI B &

999 FT 60% & 3R B HT dd- C & dd- BT 75% & A BT dd+l, C & da- &I a1 % 8?2
* 40%
® 45%
® 50%
° 35%
Correct Answer :-45%
6)

Question Stimulus :-

The series given below contains a sequence of alphabets and numbers. Identify the

incorrect combination: / R €t ¥ g@ar &Rt Td T=ATSMT BT SITHH TANT H el 3| Tad Jaor
qEa|

(i) b93bd4ss93fs6b
(ii) b63bd4ss93gs6b
(iii) b93bd4ss93gs6b

(iv) b93bd4ss93gs6b

® ii
® jv
Correct Answer :-i

7)
Question Stimulus :-

A box consist 20 electric bulbs, out of which 5 are defective. Two bulbs are selected at random. What is the probability

that they are defective? / U 999 | 20 faoTell & o9 8, od @ 5 @19 €1 € 9w sifAfaa T A A e ]
T HUTGT 8 DI 9l TR 1A 82

(20)



5/19

4/19

® 1/19

2/19

Correct Answer :-1/19
8)

Question Stimulus :-

If ‘Cupboard’ is encrypted as CXPBXXRD, how is ‘Craft’ encrypted as? / af¢ ‘Cupboard’ &1
CXPBXXRD ¥ THfshy fooam Tam 8, 99 ‘Craft’ $1 S TAfhy fBar smme

® CRAXT

® XRAFX

® CXART

® CRXFT
Correct Answer :-CRXFT
9)

Question Stimulus :-

In a certain coded language, 931785 is the code for STEADY and 12345 is the code for ENTRY. What is the code for

SEDATE in the language? / Topall @1 Hihfa® WTuT H, sTEADY & ford IS 931785 B 3R ENTRY & ol BIS
12345 §| 99 YT & SEDATE P o) o1 FIS B2
e 725892
e 918731
e 948155
* 841591
Correct Answer :-918731
10)
Question Stimulus :-

Complete the series choosing the missing number: / AW IBAT D 4TAT B PR BIT :

(21)



0,2,3,5,8,10, ;17,24
° 12
* 14
e 15
® 16
Correct Answer :-15
11)

Question Stimulus :-

(23/4)x8-(60/12)x6+(3x14)/7=?
e 22
® 25
°* 32
* 28
Correct Answer :-22
12)

Question Stimulus :-

If the code for PHYSICS is QIZTIDT then what will be the code for CHEMISTRY? / ?T% PHYSICS % ﬁ'& aﬁ_b" QIZTIDT %

@ CHEMISTRY & ToRI &IT &g B2
* DIFNJTUSZ
® ZUSTNJFDI

® TUSZINFID

® None of these/ E:I'el I aﬁé T8l

Correct Answer :-DIFNJTUSZ
13)
Question Stimulus :-

(22)



A cricketer has average of 56 for 10 innings. After 11" innings his average increases by 4

runs. How many runs did he score? / WW%W 10 Wﬁ'ﬁ%ﬁ‘lﬁSGWﬁﬂﬂ%l 114} Uit
& 9I¢ IUPT 3NGd 4 I A §¢ WIaT 8| 391 fhda = T2

* 90

® 105
®* 100
* 110

Correct Answer :-100

14)
Question Stimulus :-

If ‘STABILISE’ is encrypted as 'UVCDKNUG’. How would ‘CRICKET’ be encrypted as? / 3¢
‘STABILISE’ %! ‘UVCDKNUG'Y Ty foar ar 8, 99 *CRICKET’ &1 &9 UHhy fovar smm?

* ETEFMUG
® ESLEMAV
¢ ETKATCR
* ETKFMGV

Correct Answer :-ETKFMGV

15)
Question Stimulus :-

The LCM of 3p,6p and 9p is / 3p,6p 3T 9p FTLCM &
e 19
* 19p
e 18
e 18p
Correct Answer :-18 p

16)
Question Stimulus :-

(23)



Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / 79 38 T8 IR vl & ¥ = A T va & i I9H $19 91 v T8I 82

Western Carolina Paddlers
E-Mail: bell@unca.edu

PO Box 8541

Asheville, North Carolina 28814

(704) 258-8806

(i) Western Carolina Paddlers
E-Mail: bell@unca.edu

PO Box 8541

Asheville, North Carolina 28814

(704) 258-8806

(ii) Western Carolina Paddlers
E-Mail: bell@unca.edu

PO Box 8541

Ashaville, North Carolina 28814

(704) 258-8886

(iii) Western Carolina Paddlers
E-Mail: bell@unca.edu

PO Box 8541

Asheville, North Carolina 28814

(704) 258-8806

(iv) Western Carolina Paddlers
E-Mail: bell@unca.edu
PO Box 8541

(24)



Asheville, North Carolina 28814

(704) 258-8806

® j

® jv
Correct Answer :-ii

17)

Question Stimulus :-

A can do a work in 6 days and B can do the same in 4 days. Both of them finish the work together and get
Rs. 300. What is the share of B? / A T% ST &I 6 a7l & GR1 % 9T § 3R B S 1 &1 4 R & 1
B APHdl g1 S $Y DI TH JUY TR T Hd ¢ 3R 37 300 ¥u¢ fed €1 B &1 ez fba=m 82

* Rs.120 / 120 TUT
® Rs. 150 / 150 ¥UT
* Rs. 180 / 180 ¥UT
e Rs.200 / 200 &UT

Correct Answer :-Rs. 180 / 180 ¥UU

18)

Question Stimulus :-

In a class there are 15 boys and 10 girls. Two students are selected at random. What is the probability that both are
girls? / TP BeIT A 15 TSP iR 10 ASHai §1 3 BT B TR &1 T SITaT 8 | o 19T ¢ o wafva
B A Sl a8 @l 87

e 1/5

e 3/20

° 1/4

®* 1/10

Correct Answer :-3/20
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19)

Question Stimulus :-

By selling a used scooter for Rs. 2970, a man loses 10%, for getting profit of 20%,He should have sold

scooter for what rate? / T&% WA {3 §U THeX P 2970 TUY § §F & TH ATGH! BT 10% D1 81 83, 20% ATH
T B & T IT@ 1 wpex fha- | a1 1T UT?

® Rs.3300 /%€ 3300
® Rs.3600 /=YY 3600
® Rs.3900 / ¥UU 3900
® Rs.3960 /34T 3960

Correct Answer :-Rs.3960 / ¥UU 3960

20)
Question Stimulus :-

Complete the series choosing the missing letter/s: / faqW 31&R TADR ST HI TR HIO : _
bab _ _ becdab _d _

® acacbh
® accae
® cacae

® acace

Correct Answer :-acace

21)
Question Stimulus :-

In how many ways can we arrange ‘n’ things around a table? / UT%h A9 P AU ‘n’ el
o1 fbaq T F afRia farar &1 g&ar 82

® (n-1)!
® (n+1)!

® n!

® None of these/?FI'ef '\a' Eﬁ_&" H’g?[

(26)



Correct Answer :-(n-1)!

22)

Question Stimulus :-

41
20

37

41

~

Correct Answer :- 2"

23)
Question Stimulus :-

If Tom = 48 and Dick = 27, what is Harry equals to? / Ifd Tom = 48 3R Dick = 27, ar Harry
oo SR 82

* 50
e 80
* 70
* 60
Correct Answer :-70

24)

Question Stimulus :-

A trader marks his goods at 40% above the cost price & allows a discount of 25%. What is his gain

percent? / T HTURI ART Jod T 40% SHUR fafed Yeu Tadr ¢ 3R fihe 3TH 25% B e a1 8| TP AT B
afa=ra w82

(27)



5%

6%

7%

8%
Correct Answer :-5%

25)
Question Stimulus :-

Three persons are walking from A to B . Their speeds are in the ratio of 4:5:3. The time ratio to reach B will be:/ Gk

T A U B TP TA g € | D! Tl 4:5:3 F U H &1 B T Uged- & 07¢ GHY BT 3JUTd S
® 4:5:3
® 15:20:12
® 15:12:20
* 3:5:4
Correct Answer :-15:12:20
26)
Question Stimulus :-

Complete the series choosing the missing number: / AW TBAT FAHR 4T@T B TR BIOT :

17,19,23,29,37,
°* 40
° 42
* 45
° 47
Correct Answer :-47

27)

Question Stimulus :-

(28)



In the sequence shown below, which figure comes next? / -Hd feWr T %a # ATl SnMHpfa
®i9 i gifi?

!

Correct Answer :-

28)
Question Stimulus :-

Complete the series choosing the missing letter/s: / faqw 31&R gIH dTa G| T

Hﬂﬁlt{:b_aba _ _aab_a

® aaba
® aaab

® bhaaa

(29)



® abaa

Correct Answer :-aaba

29)
Question Stimulus :-

What is the minimum number of straight lines required to make the following figure? / IEE]

P B T & o gAaw J=m | fha-t dreht Yamsi &t smazaedr gifi?

Correct Answer :-8

30)
Question Stimulus :-

In the following qpestipn, one term in the number series is wrong. Find out the wrong
term. / A9 Uy ¥, =T 4@ A TP US A €| TAd U ¥ BIoA| 10,22,46,92,190,382

° 92
® 190
® 382
* 46
Correct Answer :-92

Topic:- Science and Simple Arithmetic
1)

Question Stimulus :-

(30)



The scientist whose observations lead to the invention of pendulum clock is / dg§ 3snﬁ|$ ISEEI ﬁ&l'UT ﬁg?l’q ‘Elff &

AR HT AJed PIAT T, © ¢

® Albert Einstein / 3feac GI'E@:I

* Galileo Galilie / THerforay fifereft

® Marcony / HTB T

® Thomas Alva Edison / YTHY 3fedT E@ﬂﬂq
Correct Answer :-Galileo Galilie / Tterferay Aferet
2)
Question Stimulus :-

The perimeter of a square with area 625 m? is

e
* 50 m /50 HieX
* 100 m /100 Hiex
e 25m /25
* 125m /125 "R

Correct Answer :-100 m / 100 Hie3

3)

Question Stimulus :-

/ U T BT QTP 625 Hiex 2 g1 IUPT UNHTY

Find two consecutive natural numbers whose product is 20. / & FHNd WHidd GBIT w1

o1 UHAwa 20 7 |
2 and 10 / 2 3R10

4and5/ 43R5

-4 and -3 / -4 3R -3

-4 and -5 / -4 3R -5
Correct Answer :-4and 5/ 4 3R 5

4)

(31)



Question Stimulus :-

Following graph shows the percentage of marriage proposals accepted in three cities over
a period of five years. Answer the following questions using the information provided. /

fFrafefad urw i 9 @t s@fr & fiF we:l o =dt & Wiga uaral &1 ufazrd i@ 81 Sudsy #g TS
MR & YA H 9 Ja@l & S99 S
ST & W d URaTdl &1 afa=rd

TR HaT R SYHIS

Percentage of mamiage proposals accepted
20

70

aa

40

20

20

10

e FI-P::

e,

AT

18BE 1888 1887 1898 1839
|C|F'rc-m nagar @ Freetnagar = lshgganj

In which year the percentage of acceptances was equal in Premnagar and Ishqganj? / fPagadd ﬁm &7 Ufa=rd
¥ TR 3R 3P 7ol # SRIeR UT?

® 1995
® 1997
® 1999
e 1998
Correct Answer :-1998
5)
Question Stimulus :-

In Pitcher plant the part which is modified to trap insects are / FCUU ® HIF I YA § St Blel
® TP & o Fuiaikd giar 8

® Roots/ \—II%

® Flowers /Y™

® Leaves/ ufmEi
(32)



® stem /<Al
Correct Answer :-Leaves / Ui/l
6)

Question Stimulus :-

Which one among the following options is not defined? / frafafaa & @ o119 a1 i afvufia & 82
® sin 90°
® cos 90°
® tan 90°
® cosec 90°
Correct Answer :-tan 90°
7)
Question Stimulus :-

Find the perimeter of a sector of angle 30° of a circle which has a radius of 21 cm. / 21 THI =T ot qd T 30°

PV & o BT UINHTY JTd P
* 21cm/219W
e 11cm/ 119
* 66cm /66 TH
* 42 cm /4294
Correct Answer :-11 cm / 11 GHI
8)

Question Stimulus :-

Whale often comes to the surface of water with their blow hole at the top of the head. Give

reason / @d RR AT RR & M W aRgR & WY @ B} g R 3T A1} 81 $HDT R ga1d|
® To experience the day light / ﬁ——r%mma{mﬁwﬁ%m
* To look for any food / il HivH & & & forw

* To breathe / Hi¥ A1 & fou

(33)



® To blow out water through the hole /que[ fosgl g1 U @ CIRN HHd b ﬁ‘l"!,'
Correct Answer :-To breathe / 9 a9 & fow
9)
Question Stimulus :-

The main source of energy in the environment / dTdTdR 0T T SHolt BT yq9 a8
® Hydel energy / BTS¢ Sl
® Solar energy / TR Solt
® Wind energy / Ud- Sl
® Tidal energy / AR SHell

Correct Answer :-Solar energy / AR Sl

10)
Question Stimulus :-

In the given figure AABC and APQR are such that AABC ~APQR. Find y and z / &
T} epfaal ® AABC 9 APQR 39 UPR & f AABC ~aPQR @1 Y 3R Z F1d HRI|

, ¥e7B.z=2
\,r=?‘lﬁ,z=2

2

o b
NI
|rr:?—’z:_
2 2

[ J
1
y:?.\,@!g:_
. 2
v=?£,z=2
3

Correct Answer :-
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11)

Question Stimulus :-

Which, among the following, is not easily deformed on heating ? / Fafafaa § 9 7 $9 R 19
¥ fapd T8 giar g2

® Polythene / giferdi=
e Polyvinylchloride ( PVC ) / UleiiaTRIdadRIsS ( PVC )
® Thermoplastics / YHTATRE D
® Bakelite /éﬁﬁﬂs‘d
Correct Answer :-Bakelite / aﬁﬁﬂg‘c’
12)

Question Stimulus :-

C.N.G. stands for / '\‘-ﬂ@iﬂ Cal T'Jf g %

* Combustible Natural Gas / HIERead ﬁ?ﬁ?l ™~

® Convertible Natural Gas / EECIRE S ﬁw i

® Compact Natural Gas / CgtuC ﬁﬂ?ﬁ LIk

® Compressed Natural Gas / FHHUTS ﬁﬂ?ﬂ EIE:]
Correct Answer :-Compressed Natural Gas / FHHUTE ﬁ?ﬁﬁ bIE:|
13)

Question Stimulus :-

The lines x + 2y = 5 and x + 2y = 10 graphically represents ./ Wﬂ! X+2y=5 3T x + 2y =10 '\ﬂﬁlﬁﬂ U

3 quifedt &
® 2 perpendicular lines / 2 @d m
® 2 co-incident lines / 2 JUT ¥@T¢
® 2 lines which intersects at (1,2) / 2 m il (1,2) ¥ ufodg #eal &
® 2 parallel lines / 2 TJHIdR m

Correct Answer :-2 parallel lines / 2 JHidR @Y
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14)
Question Stimulus :-

Name the process of periodical blood purification by artificial kidney /?ﬁl’q '{I,ch GIRT 99T 99Y W G
YIS B ufehaT &1 719 a13¢

® Filteration lﬁﬁ‘iFf

® Dialysis / \’rI'ChE:l

® Excretion /Wﬁq

® Secretion / HAU[
Correct Answer :-Dialysis / 3TUg
15)

Question Stimulus :-

An earth worm that is taken out from soil and kept in the open dies soon. Why? / ﬁ(’ Ca| Hal T TR

frTae? gd # 3@ 3 W 98 g3 ot WR o g1 |i?
® They cannot withstand light / ) UHTRT T HIHAT A5l B gbdl
® They respire with moist skin / at 9 &= 919 AT %
* Heat kills them / TRif 3% WR gl 3
® They can’t feed in the open /3-1 Qﬁ RNGE q'é)f P gHd
Correct Answer :-They respire with moist skin / 9 70 @€ 4 919 qd1 &

16)

Question Stimulus :-

Neutralisation reaction is a / Sgra =il rfyufesar % Th
® Physical Change / Yifasw ulkad=
® Reversible change / IPHTNY Ufkaed=
® Chemical change / I ufad=
® Chemical change that cannot be reversed / INTa® uRad= i Sepfud q’é’[ forar < gwar

Correct Answer :-Chemical change that cannot be reversed / ITafe uRad= S Sepfud Hﬁ fopaT o
Hohdl
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17)
Question Stimulus :-

The cost of a doll is a two digit number. Its selling price is the interchanged dlglts of the

cost price. If the profit is divisible by 9, then the remainder is & AT BT
ngqaamaﬁr:a'@m%lmﬁmqmmqm%aﬁﬁmamﬁﬁm%m%mugﬁﬁm% GERIL
)
°* 0
° 1
* 3

Correct Answer :-0

18)
Question Stimulus :-

Following graph shows the percentage of marriage proposals accepted in three cities over
a period of five years. Answer the following questions using the information provided. /

Frafafad e i ara @t eafer & fiF et A =t & Wea uaral &1 ufaxrg @ 81 Sudsy # TS
SR BT SYINT B3 (Y FaTd] & e ¢ |

S & iPpd y=ardl T Jiard
THTR WaTR @i

Percentage of marmmiage proposals accepted

a N . sl . it : .
188E 1883 1887 1888 1888
||:|F'remnagar ®m Freetnagar =lshgganj I

Total number of proposals made in Premnagar, Preetnagar and Ishgganj in the year 1997 was 5000, 6000 and 8000
respectively. What was the total number of proposal accepted in these three cities in 1997? / a¥ 1997 & ﬁmmv,

(37)



WaTR 3R 53%7ie A HT Y Uwaal @t o T=T HART: 5000, 6000 3R 8000 Ft| 3 @7 =gl & adf
1997 ¥ Wigpd ywdmEal &1 oo =T T 42

® 7500
e 7700
® 8000
® 8200

Correct Answer :-7700

19)

Question Stimulus :-

—_
—_

Il
Il
|

e

| -
| o=
] =
=

—
5]
LA

L

bt

Ly

If , the value of x is: / ¢

e 35
Correct Answer :-2.5

20)

Question Stimulus :-

When 4.0gm of a liquid fuel was completely burnt the heat produced was measured as 160000 Kj. What is the
calorific value of the fuel ? / STd 4 gm & &d SY ®T YUl U A &g BIdT @ df Sl ST S gidl @
39 160000 Kj HIUT SITdT €1 S S BT SRS A R 872

* 20,000 Kj/ Kg
* 40,000 Kj/ Kg
* 160,000 Kj/ Kg
* 640,000 Kj/ Kg
Correct Answer :-40,000 Kj/ Kg

21)

(38)



Question Stimulus :-

Following graph shows the percentage of marriage proposals accepted in three cities over
a period of five years. Answer the following questions using the information provided. /

fFrafafad arw i g @t e@fr & fiF we:l o dt & Wiga uaral &1 ufasra i@ 81 Sudsy #E TS
SR $T ITANT HR 9 Jaral & saE <1
RSt & iPpd U=ardl 1 Ui

TR HaTR SUHIS

Percentage of mamiage proposals accepted
20

70

aa

40

30 2
e
o

20

i)

10 5
3 e

18BE 1888 1887 1898 1839
|C|F'rc-m nagar @ Freetnagar = lshgganj

Which city(s) had the lowest growth in the percentage of acceptance of proposals over the five years? / Cat| ﬂT/'\ﬁ' qe/

TGN A Ui A1 H UATdl B W pia & g § J99 $H g @1 A2
® Premnagar /YHTR
® Preetnagar / aT TR
® Premnagar and Preetnagar both / Td R 3R THTR a1
® Preetnagar and Ishqganj both / AR 3R SZ&He AT

Correct Answer :-Premnagar /UHTR

22)
Question Stimulus :-

A dealer marks his goods 20% above C.P. He then allows same discount on it and makes a
profit of 8%. The rate of discount is: / T& HATUR! U+ AWM & 3ifhd Ted I 39 HI-I I
20% TETHY IWdI 81 3P d1¢ 9 SHUR TAH Fe ¢dl 8 U 8% HT AT 3ifold Hva1 81 e Bl X 8:

® 6%

® 12%

(39)



® 5%

* 10%
Correct Answer :-10%
23)

Question Stimulus :-

In AABC side, LB = 359, LC = 65° and the bisector of LBAC meets BC in X. Arrange AX, BX

and CX in the ascending order. / AABC ® LB = 35°, LC = 65° 3{R L BAC &T fgHei® X W BC ¥
fiyerar 81 9 AX, BX T CX &1 9¢d ¥ # afyd SR |

® (X, AX, BX
® BX, AX, CX
® AX, BX, CX
® AX, CX, BX
Correct Answer :-CX, AX, BX
24)

Question Stimulus :-

A prism is used to disperse white light into its component colors. The color that ah_:vays
appear closer to the base of the prism is / T® fUSH ST UURT Yhc UHRT Bl SHP Ucdh TN &
e @1 A glar 31 fIsH & SR & 301 & qa Hd ol 7 Uelld glar € 9l @

* Orange / ARAt

* Violet / a1

® Red / dld

e Depends on how the prism is placed / AR ®var g f& fUsH & f5g yeR @ T 8
Correct Answer :-Violet / d7I
25)

Question Stimulus :-

Following graph shows the percentage of marriage proposals accepted in three cities over
a period of five years. Answer the following questions using the information provided. /

fFafafad 1w v wra @1 eafy & @ el @ ikt & wWiea el o1 gl i 81 Sudsy HR1g TS
SFPRI BT ITANT B 79 Farel & ard ¢
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MG & pd YRaral o1 wiasra
THTR WaTR BT

Percentage of marmiage proposals accepted

20 2o |

e

B

10

{0

o

188E 1888 1887 1883 1859
||:|F‘rem nagar @ Preetnagar s8lshgganj |

Total number of proposals made in Preethnagar was 4000 in 1995 and 4500 in 1996. How
many proposals were accepted in Preetnagar in these two years? / Wid TR ¥ f&U ¢ yamai
Pt $d T=IT T4 1995 H 4000 3R 1996 H 4500 2t T fHa= U@ g7 &f aui § g TR ® Wipd gu
q?

® 2600

® 2800

® 3000

e 3200
Correct Answer :-3200
26)

Question Stimulus :-

Following graph shows the percentage of marriage proposals accepted in three cities over
a period of five years. Answer the following questlons usmg the information provided. /

FrafafaT 1w g e @ eafy & @9 et @ wdt & Wiea waral o1 glawr e 81 Sudsy $R1g TS
MG BT ITANT B 9 Fare & §ard ¢
Tl & Wipd U@l &1 gl

TR WaR g
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Percentage of mamiage proposals accepted

20
Ta
aa
=11
| =)
40 - o —
o e
30 x — i —
20 = = % —
S i
a S I — . : L
1835 1988 1997 1893 1853

|C|F'remnagar @ Freetnagar =2lshgganj I

Which city showed no increase in the percentage of acceptances and in which year? /'&‘a:f J PR A fog 9 A

et & ufme & 91§ gia 76 a?

® Premnagar in 1997 / 1997 § UHTR

® Preetnagar in 1996 / 1996 § WaTR

® Preetnagarin 1997 / 1997 § WaTR

® Premnagar in 1999 / 1999  UHTR
Correct Answer :-Premnagar in 1999 / 1999 # THTR
27)

Question Stimulus :-

The potted plants kept in the dark do not show the presence of starch. The reason is / 3R

# 3@ T F N ' it SRR 8T G | RO 7
® The plants die in the absence of light. / W1 B gufufa & Ui wR &d 1
® The plants cannot synthesize food / UT& HISH HIfYT 75T H< U &
® The plants cannot respire / W19 T 51 & T &I
® The plants lose all starch / TI& W3}t Hs @I 34 B

Correct Answer :-The plants cannot synthesize food / Y Yo HZATT T8l P U ¢

28)
Question Stimulus :-

Lichens growing on trees is an example of / ﬂs’r 03 a%ﬁ' arelt ﬁ'l?gaﬁl IRC KT 3aleXul %

(42)



® Parasite / R4t

® Saprophyte / 'H’cﬁﬁﬁ

® Autotrophs / Ut

® Symbiotic relationship / ﬂ?ﬁﬂﬁ Y
Correct Answer :-Symbiotic relationship / HgGiIdl Ha¢f
29)

Question Stimulus :-

Human ear can hear sounds of frequencies / WG ®TH_____ 3Mgfa @1 @y g7 T&d € :
* Below 20 Hz / 20 Hz & T
* Between 20 Hz to 20000 Hz / 20 Hz & 20000 Hz & AT
* Between 60 Hz to 13000 Hz / 60 Hz & 13000 Hz & T
* Above 20000Hz / 20000Hz ¥ &UR

Correct Answer :-Between 20 Hz to 20000 Hz / 20 Hz ¥ 20000 Hz & d%

30)
Question Stimulus :-

Gravitational force acts / {Rﬁﬂ'ﬂ I B BT % :
® Between the sun & all the planets moving around it / ?Iﬁ T4 39 IR 3R ‘{[H?f Tt wel & 9"
® Between the earth & all bodies on it / q&'ﬂ Td TR IufRma g Ferl & &g
e Between all bodies in the universe / F&lis A SufRd I Aol & 9=
* Between the sun & the earth only / &aa ﬁd’ Td gt & 9

Correct Answer :-Between all bodies in the universe / glie # Iufya 9t Aol & =
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